(2x-1)(2x+3)(3x-2)(3x+4)=35
(2x-1)(2x+3)(3x-2)(3x+4)-35=0
(2x-1)(3x+4)(2x+3)(3x-2)-35=0

(6x2+5x—4>(2x+3) (3x-2)-35=0

(6x%+5x-4)(6x2+5%-6)-35=0

3aMCcHad IICPEMCHHBIX.

[lycTs t=6X2+5X
B pesynbrare .

(t-4)(t-6)-35=0
(t2-6t-4t+24>-3520

(t2-10t+24)-35:0

t2-10t+24-35:0

t2-10t-11=0

Haxonum nuckpumMuHaHT.
2 _ 2 _
D=b -4ac—(-10) -4- 1(-11)—144

. _bx[D

1,27 2a

10-12 10412
4= — b= =1

HNCXOOHOC YPABHCHUC CBOAUTCA K YPAaBHCHUSAM

6x2+5x=-1

6X2+5x=11

nepBoe.



6x2+5x=—1
6x2+5x+1:O

Haxoaum nquckpuMuHaHT.

D:b2-4ac:52-4-6- 1=1
_-bx/D
X127 2a
-5-1 5+1 1
X126 00 % 263
BTOPOE
Bxo+5x=11
2 _
6x +5x-11=0

Haxonum auckpuMuHaHT.

D=h’-4ac=5°-4-6(-11)=289

_-bx/D
X127 2a
(517 11 -B+17
X1926 76 %27 26

11 1
OTBET; X=- 6 ,x—-0,5,x—-3,x—1



